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English VVersion

Answer any ten questions of the following : (10 x 2)
a)  Approximately what is the percentage contribution of the secondary sector to the GDP in

India?

b)  What approximately is the current rate of growth of GDP in India?

c)  Mention two important factors responsible for high rate of growth of population in India.

d)  What do you mean by occupational structure?

e)  What is the full form of MGNREGS?

f)  What is Green Revolution?

g)  Mention any two causes of failure of land reform measures in India.

h)  What is Operation Barga?

i)  Give two arguments in favour of privatisation in India.

j)  What do you mean by SLR?

k)  Mention two shortcomings of the tax-structure in India.

I)  Mention any two features of banking sector reform.

m)  Mention two important export-items of India.

n)  What is seasonal unemployment?

0) What do you mean by non-tax revenue of the Government?

Write short-notes on any three of the following : (3x5)

a)  Trends in national income of India during plan period.

b)  Problems of public sector in India.

c) ExitPolicy

d)  Fiscal Deficit and Budget Deficit

e)  Non-performing assets (NPA) of the commercial banks.

Answer any four questions of the following : (4 x 10)

a)  Discuss about the main features and impact of Green Revolution in India.

b)  Discuss how the process of globalization has affected performance of Indian agriculture is
the recent past.

c) Critically evaluate the reforms in Indian public sector in the post 1990's.

d) Discuss briefly the major changes in the Indian balance of payments situation in the recent
years.

e)  Evaluate critically the monetary policy of the R B9.

f)  Discuss about the sources of revenue and items of expenditure of the central Government

of India.
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